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g.push(make pair(0,begin
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q.empty
int x=q.top().second

g.pop
vis|[x

vis[x|=1
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dis|y!>dis|[x]|+time

dis|y|=dis|x|+time
g.push(make pair(-dis|yl.,y
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void bfs(int v)/OvO0 000000000 OOO0OOODOOOODOO

list<int iterator it

visited|v true

cout % v

gueue<int> myque

myque.push (v
myque.empty

v = myque.front
myque. pop

it = graphiv].begin it graph[v].end

visited| fit

cout it

myque.push(*it
visited| “it true;/00LC

cout endl

From:
https://wiki.cvbbacm.com/ - CVBB ACM Team

Permanen it link:
iki.cvbhb:

it

%ET%BA%A2_bfs ¢

Last update: 2020/05/18 17:51

%80%E7"

1589795472

CVBB ACM Team - https://wiki.cvbbacm.com/


https://wiki.cvbbacm.com/
https://wiki.cvbbacm.com/doku.php?id=2020-2021:teams:namespace:%E5%B9%BF%E5%BA%A6%E4%BC%98%E5%85%88%E6%90%9C%E7%B4%A2_bfs_%E4%B8%8E%E6%A0%87%E6%95%B0%E6%9C%80%E7%9F%AD%E8%B7%AF_dijkstra&rev=1589795472

	[Dijkstra的三步走]
	Dijkstra的三步走
	前提条件
	第一步：初始化
	第二步：找下一个标号点
	第三步：标号

	利用队列的BFS非递归实现


